SET A

INDIAN SCHOOL MUSCAT
FINAL EXAMINATION 2022
English Language & Literature-184

CLASS:X Max.Marks: 80
MARKING SCHEME
SET | QN.NO VALUE POINTS MARKS
SPLIT UP
A I (i) A serving of kiwi offers twice the vitamin C of an orange, as much 1x10=10
potassium as a banana and the fiber of a bowl of whole grain cereal-all for
less than 100 calories!
(i1) Rutgers University researchers found that kiwi fruit has the best nutrient
density of 21 commonly consumed fruits. Therefore, it was called
‘nutritional all-star.’
(iii) Kiwi fruit supplies our eyes with protective lutein, a carotenoid that’s
concentrated in eye tissues and helps protect against harmful free radicals.
(iv) Kiwi fruit can be ripened by keeping it at room temperature for three to
five days.
(v) The fuzzy fruit is sky-high in both soluble and insoluble fibre.
(vi) Kiwi promotes heart health, regulates digestion and lowers cholesterol
levels.
(vii) The word ‘compound’ means mixture.
(viii) ‘Bruises’.
ixX) slender
X) intense
xi) d) sharp
xii) b) kiwi-bird_national symbol
. i). A) On Dal lake 1x10=10

ii) along with the date and address, the design of a boatman rowing a
shikara on the Dal Lake

iii) The letters posted from this post office carry a special design which has the
picturesque scenery of Dal Lake and Srinagar city. These pictures reach wherever
these letters are posted to and hence promote Kashmir as a tourist destination
across the world.

iv) The post office’s houseboat has two small rooms — one serves as the office and
the other a small museum that traces the philatelic history of the state postal
department.

v) Around 1-2 crore is deposited per month in Floating Post Office by
communities living in and around the Dal Lake. The lake has several islets
that are home to more than 50,000 people.
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vi) You do not need fan

vii) False
viii) d) Ordinary

iX) ¢) History of postage stamps
x) d) It is a heritage post office that has existed since British times.

xi) a) Chief Postmaster
xii) a) deluge

1.

(1) c) the children were playing

(i) a) heard a loud noise, followed by a
(iii) d) ran outside to see

(iv) ) has

(V) b) will

(vi) d) will

2.

(vii) Incorrect

(viii) Correct

3.

(ix) was

(x) went

4.(xi) C. Tina said that she might postpone the trip to the following

year.

(xii) B Grandpa asked me what was the time by my watch

1x10=10

a) Letter_Format- 1 Content -2 Expression-2

b) Analytical Paragraph- Fluency- 1 Content-2 Expression-2

A)
i) (c) was looking for simple people to dupe.
i) (d) considered the role of fate in deceiving others.

iii) (d) He wanted to be able to spend quality time with him
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iv) (b) suave

V) (d) One may define flattery as a base companionship which is most
advantageous to the flatterer.

OR
1) (b) they are eminent world leaders witnessing it.

i) (d) (i) equality (ii) liberty (iii) self-respect
iii) (c) experienced it for the first time.
iv) (c) (i) overwhelmed (ii) elated (iii) honoured

V) (a) He was praised for his hospitality as the host of the party.

B)

i) (D) listless

i) (A) (1), (2) and (5)
iii) (B) resilient

iv) (A) An Observer.

V) (B) our experiences
OR
i) (D) Carolyn Wells
if) ( C) large and yellowish
iii) Jungles in the East
iv) If it roars at you as you are dying

V) ¢) ababcc

VI

1. Answer any FOUR of the following questions in 40-50 words:

1).Why are the people of Coorg known as descendants of the Arabs?
Ans. The theory of the people of Coorg as descendants of the Arabs draws
support from the long, black coat with an embroidered waist-belt worn by
the Kodavus known as kuppia. It resembles the kuffia worn by the Arabs
and the Kurds.

i) How were Seagull’s parents helping his brothers and sister for
‘perfecting them in the art of flight’?

Answer:

The young seagull was afraid of flying, but his two brothers and a sister had

3x4=12
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started flying. But his parents were teaching them to be perfect in the art of
flying. They were teaching them how to skim the waves and how to dive for
fish.

iii) Why did the writer follow the pilot of another aeroplane?
Answer:

The writer followed another aeroplane because he had lost the way in the
storm and was unable to see anything. The pilot of another aeroplane was
helping him to get out of the storm and land safely.

iv) How does the tiger act in the cage?

Answer:

The tiger is in the cage. He is powerless and helpless. He longs for freedom.
His velvet pads do not make ¢ any noise. He is in the silent anger roaring
and ignoring the visitors.

V) What do ‘Fire’ and ‘Ice’ symbolize in the poem ‘Fire’ and ‘Ice’?
Answer:

‘Fire’ and ‘Ice’ are symbolized here. ‘Fire’ stands for conflict, fury,
intolerance, insensitivity while ‘Ice stands for greed, avarice, lust, rigidity,
coldness, indifference, hatred, etc.

1. Answer any TWO of the following questions in 40-50 words:

i). Why did Fowler want to meet Ausable? Why was he disappointed?

Fowler was a young romantic writer. He had a fine imagination about
spying and secret agents. He loved adventure and thrill. So he wanted to
meet Ausable who was engaged in collecting sensitive information. He was
disappointed after spending a dull evening in a French music hall with a fat,
sloppy man as there was nothing mysterious or romantic about him.

i) What was the thief s reaction when he took Anil’s money?

As the thief got the money he quickly crawled out of the room. When he
was on the road, he began to run. He had the notes at his waist, held them
by the string of his pyjamas. Later on he slowed down to walk and counted
the notes. He thought that with those 600 rupees he could lead a luxurious
life like an oil-rich Arab at least for a week.

iii) What did Mrs Pumphrey do to bring him back to normal health?
Was she successful?

When Mrs Pumphrey found Tricki weak, she started giving him extra diet
between meals to build him , up. She gave him some malt and cod-liver oil
and a bowl of Horlicks at night. She never forgot to give him cream cakes
and chocolates which Tricki really loved. She was hot successful rather she
put her dog in more trouble. He started gaining weight which made fys
condition worse.

3x2=6

Answer any ONE of the following questions in 100-120 words:

1x6=6
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1. “The World is afflicted with death and decay, therefore the wise do not
grieve, knowing the. terms of the world”. Explain with reference to the
story “The Sermon at Benares”.

According to Gautama Buddha, the world is affected by sufferings, disease
or pain, death and decay. Therefore, the wise persons do not mourn,
knowing the terms of the world. Nobody can get peace of mind from
weeping or mourning. Rather his pain will be greater and his body will
suffer. He will make himself sick and pale, yet the dead cannot be saved
from his expression of sorrow. He who seeks peace should “draw out the
arrow” of lamentation, complaint and grief. In this manner, she who has
become composed will obtain peace of mind. He who has overcome all
sorrow will become free from sorrow, and be blessed.

2.The people and surroundings are a great book to learn. Valli in the lesson
‘Madam Rides The Bus’ learns a lot from others. Mention the traits of her
character which help her to learn from her surroundings.

Valli dreamt of riding on the bus. Her eagerness to fulfill her dream fired
her curiosity. This curiousness led her to listen to the conversations of
people going on the bus ride and asking discreet questions so that she could
gather as much information as she can regarding the bus journey.

On the bus journey, Valli acted confidently and behaved maturedly. She did
not consider herself to be any less than an adult. She was focused on
fulfilling her dream and did not get tempted to go outside the bus and
explore the town when the bus reached the town.

On the return journey, she learnt about death when she came to terms with
the dead cow. This made her aware of the fact that death is a part of life and
should be accepted as it is a natural phenomenon. Thus, the bus journey
made her learn a lot of things.

Page 5 of 5




SET

INDIAN SCHOOL MUSCAT
FINAL EXAMINATION 2022
English Language & Literature-184

CLASS:X

Max.Marks: 80

MARKING SCHEME

SET | QN.NO VALUE POINTS

MARKS
SPLIT UP

B 1. i). A)On Dal lake

shikara on the Dal Lake

across the world.

department.

that are home to more than 50,000 people.
vi) You do not need fan

vii) False
viii) d) Ordinary

iX) ¢) History of postage stamps

xi) a) Chief Postmaster
xii) a) deluge

ii) along with the date and address, the design of a boatman rowing a

iii) The letters posted from this post office carry a special design which has the
picturesque scenery of Dal Lake and Srinagar city. These pictures reach wherever
these letters are posted to and hence promote Kashmir as a tourist destination

iv) The post office’s houseboat has two small rooms — one serves as the office and
the other a small museum that traces the philatelic history of the state postal

v) Around 1-2 crore is deposited per month in Floating Post Office by
communities living in and around the Dal Lake. The lake has several islets

x) d)It is a heritage post office that has existed since British times.

1x10=10

less than 100 calories!

‘nutritional all-star.’

(i) Rutgers University researchers found that kiwi fruit has the best nutrient
density of 21 commonly consumed fruits. Therefore, it was called

(i11) Kiwi fruit supplies our eyes with protective lutein, a carotenoid that’s
concentrated in eye tissues and helps protect against harmful free radicals.
(iv) Kiwi fruit can be ripened by keeping it at room temperature for three to

] i) A serving of kiwi offers twice the vitamin C of an orange, as much 1x10=10
potassium as a banana and the fiber of a bowl of whole grain cereal-all for
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five days.

(v) The fuzzy fruit is sky-high in both soluble and insoluble fibre.

(vi) Kiwi promotes heart health, regulates digestion and lowers cholesterol
levels.

(vii) The word ‘compound’ means mixture.

(viii) ‘Bruises’.

iX) slender

X) intense

xi) d) sharp

xii) b) kiwi-bird_National symbol

Grammar
1.
(i) Incorrect
(ii) Correct
2.
(iii) was
(iv) went
3.
(v)C -Tina said that she might postpone the trip to the following
year.

(vi) B- Grandpa asked me what was the time by my watch.

4.

(vii) c) the children were playing

(viii) a) heard a loud noise, followed by a
(ix) d) ran outside to see

(x) ¢) has

(xi) b) will

(xii) d) will

1x10=10

a) Letter_Format- 1 Content -2 Expression-2

b) Analytical Paragraph- Fluency- 1 Content-2 Expression-2

A)
i) (b) they are eminent world leaders witnessing it.

i) (d) (i) equality (ii) liberty (iii) self-respect
iii) (c) experienced it for the first time.

iv) (c) (i) overwhelmed (ii) elated (iii) honoured

1x5=5
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V) (a) He was praised for his hospitality as the host of the party.
i) (c) was looking for simpleggjple to dupe.

i) (d) considered the role of fate in deceiving others.

iii) (d) He wanted to be able to spend quality time with him

iv) (b) suave

V) (d) One may define flattery as a base companionship which is most

advantageous to the flatterer.

B
i) (D) Carolyn Wells
if) ( C)large and yellowish
iii) Jungles in the East
iv) If it roars at you as you are dying
V) ¢) ababcc
OR

i) (D) listless

i) (A) (1), (2) and (5)
iii) (B) resilient

iv) (A) An Observer.

V) (B) our experiences

1x5=5

VI

2. Answer any FOUR of the following questions in 40-50 words:

i).Describe the natural beauty of Coorg.

Ans. Coorg is situated midway between Mysore and the coastal town of
Mangalore in Karnataka state. It is a beautiful region of ‘rolling hills’ and
lush green rainforests. It is famous for coffee, spices and wildlife.
i1).“Still they- took no notice of him.” What did the seagull do to draw
the attention of his family?

The young seagull stepped slowly out to the extreme edge of the ledge. He

3x4=12
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was standing on one leg with the other leg hidden under his wing. He closed
one eye, then the other and pretended to be asleep and they look no notice
of him.

iii) What did the writer feel inside the clouds?

When the writer entered the clouds, it became impossible to see outside the
aeroplane. The aeroplane jumped and twisted in the air and all the
instruments like compass etc stopped working due to the weather
conditions.

iv). What does the poet want to convey through this poem?

The poet wants to convey that like human beings, animals also like
freedom. They do not want to be caged, they cannot live a miserable life. If
their habitat is destroyed by human beings, these animals cannot survive.

v).How can fire destroy the world?

Fire’ symbolizes passion or hatred. It will lead to conflicts and ultimately
result in the destruction of the world. Fire represents desire that is fervent,
consuming, always wanting more. Ice represents hatred that is hard and
cold.

2. Answer any TWO of the following questions in 40-50 words:

i). Who actually had knocked at the door of Ausable’s room? Why did
he come there?

Henry, the waiter was knocking at the door in hotel. Infact, Ausable had
ordered for a bottle of wine and two glasses. When there was a knock at the
door he reached as if policeman was at the door. He had come there as
Ausable had ordered drinks before coming into the room.

i) How did Hari Singh know that Anil had forgiven him?

It seems Anil knew about theft but neither his lips nor his eyes showed
anything. He gave him fifty rupees and told him that now he would be paid
regularly. He informed him that he would teach him to write sentences. It
shows that Anil had forgiven him.

iii) Why was Tricki an uninteresting object for other dogs at the
surgery?

When Tricki was brought to the surgery, all the household dogs surged
around him but Tricki looked down at the noisy pack with dull eyes and lay
motionless on the carpet. So after sniffing him for a few seconds, they
found him an uninteresting object and moved away from him.

3x2=6

3. Answer any ONE of the following questions in 100-120 words:

1x6=6
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i) In ‘The Sermon at Benares’, the Buddha preached that death is

inevitable and we need to overcome the suffering and pain that follows.

Discuss.

It is very painful to lose someone or something we love. When we lose
someone it is a great emotional suffering. The more we grieve over death,
the more painful it will be for us. Death is always unwelcome. We must
realize that we are all mortals and death is common to all. We may lament
and cry but we cannot bring dead back to life. All the riches of the world
cannot bring life back. We must realize that death is common to all rich or
poor. Those who have overcome sorrow will become free from sorrow and
are blessed.

ii) Age is not a barrier when it comes to doing something different and
great. Which characteristics of Valli help her achieve the wonder of
visiting the town at such a tender age?

In today’s era, age is no more a barrier. Children are doing wonders at a
very young age. Same goes with Valli. At an age of 8 years, Valli was able
to pursue her dream all alone by travelling in the bus to town. She was no
different from others, except that she had certain characteristics that made
her fulfil her dreams. Valli was a very confident and a bold girl. She had a
knowledge of proper planning and execution. She controlled her wishes to
save money for the bus ride. Also, she was a very good observer and
learner. All these qualities made her realise the dream of visiting the town.
Hence, one should always remember that there is no age to learn and
experience new things.

4. Answer any ONE of the following questions in 100-120 words:

1. To participate in the competition is more necessary than to win a
prize. Explain this statement in the light of Ebright’s participation at
the country science fair.

We know very well to win is a human nature. Everyone wants to get a
winning place everywhere. Our life is full of different competitions at
different levels. In these, competitions everyone of us wants to become a
winner. But it is always not possible. When we enter any competition, we
feel a great zeal. We try our best to get the top position there. But if we
don’t get or achieve our goal, we feel disappointed.

Great thinkers have said that participation is more important than winning.
The same is proved in Ebright success. Richards Ebright participated in the
country science fair, but he lost. There he showed slides of frog tissues. He
realised that he should have done some real experiments to be a winner. If
he did not participate in that competition, the result might have been
different.

2. Griffin could use his discovery for welfare of the people but misuses
it to take revenge.’ Discuss with reference with the story Footprints

1x6=6
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without Feet.

Griffin was a scientist who had made a discovery due to which’he could be
invisible. But he was rather a lawless scientist, who misused a scientific
discovery for his petty, selfish gains. He set his landlord’s house on fire,
when he asked him to vacate it. He entered the store invisible, stole clothes
and food.

At another shop, he attacked the shopkeeper from behind and ran away after
robbing his money. , At Iping, he stole the clergyman’s money from his
desk and hit Mrs Hall by throwing a chair on her. He hurled blows on the
police constable Mr Jaffers and knocked him down. In this way, Griffin
misused his scientific discovery without making benefit to the mankind.
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i) slender

ii) intense

iii) d) sharp

iv) b) kiwi-bird_National symbol

V) A serving of kiwi offers twice the vitamin C of an orange, as much
potassium as a banana and the fiber of a bowl of whole grain cereal-all for
less than 100 calories!

(vi) Rutgers University researchers found that kiwi fruit has the best
nutrient density of 21 commonly consumed fruits. Therefore, it was called
‘nutritional all-star.’

(vii) Kiwi fruit supplies our eyes with protective lutein, a carotenoid that’s
concentrated in eye tissues and helps protect against harmful free radicals.
(viii) Kiwi fruit can be ripened by keeping it at room temperature for three
to five days.

(ix) The fuzzy fruit is sky-high in both soluble and insoluble fibre.

(x) Kiwi promotes heart health, regulates digestion and lowers cholesterol
levels.

(xi) The word ‘compound’ means mixture.

(xii) ‘Bruises’.

1x10=10

i) False
ii) d) Ordinary

iii) c) History of postage stamps

iv) d)It is a heritage post office that has existed since British times.
V) a) Chief Postmaster

vi) a) deluge

vii). A) On Dal lake

vii) along with the date and address, the design of a boatman rowing a
shikara on the Dal Lake

1x10=10
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iX) The letters posted from this post office carry a special design which has the
picturesque scenery of Dal Lake and Srinagar city. These pictures reach wherever
these letters are posted to and hence promote Kashmir as a tourist destination
across the world.

X) The post office’s houseboat has two small rooms — one serves as the office and
the other a small museum that traces the philatelic history of the state postal
department.

xi) Around 1-2 crore is deposited per month in Floating Post Office by
communities living in and around the Dal Lake. The lake has several islets
that are home to more than 50,000 people.

xii) You do not need fan

WRITING
a) Letter_Format- 1 Content -2 Expression-2

b) Analytical Paragraph- Fluency- 1 Content-2 Expression-2
GRAMMAR

1.

(1) c) the children were playing

(i) a) heard a loud noise, followed by a

(iii) d) ran outside to see

(iv) c) has

(v) b) will

(vi) d) will

2.
(vii) Incorrect

(viii) Correct

3.

(ix) was

(x) went

4. (xi) C. Tina said that she might postpone the trip to the following
year.

(xii) B Grandpa asked me what was the time by my watch

1x10=10
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A
i) (D) listless

i) (A) (1), (2) and (5)
iii) (B) resilient
iv) (A) An Observer.

V) (B) our experiences
OR
i) (D) Carolyn Wells
i) ( C) large and yellowish
iii) Jungles in the East
iv) If it roars at you as you are dying

V) ¢) ababcc
B)
B)
i) (c) was looking for simple people to dupe.
ii) (d) considered the role of fate in deceiving others.
iii) (d) He wanted to be able to spend quality time with him
iv) (b) suave

V) (d) One may define flattery as a base companionship which is most
advantageous to the flatterer.

OR
i) (b) they are eminent world leaders witnessing it.

i) (d) (i) equality (ii) liberty (iii) self-respect
iii) (c) experienced it for the first time.
iv) (c) (i) overwhelmed (ii) elated (iii) honoured

V) (a) He was praised for his hospitality as the host of the party.

1x5=5

1.Answer any TWO of the following questions in 40-50 words:

i) Why did Fowler want to meet Ausable? Why was he disappointed?

3x2=6
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Fowler was a young romantic writer. He had a fine imagination about
spying and secret agents. He loved adventure and thrill. So he wanted to
meet Ausable who was engaged in collecting sensitive information. He was
disappointed after spending a dull evening in a French music hall with a fat,
sloppy man as there was nothing mysterious or romantic about him.

ii). How did Hari Singh know that Anil had forgiven him?

It seems Anil knew about theft but neither his lips nor his eyes showed
anything. He gave him fifty rupees and told him that now he would be paid
regularly. He informed him that he would teach him to write sentences. It
shows that Anil had forgiven him.

iii). Why was Tricki an uninteresting object for other dogs at the
surgery?

When Tricki was brought to the surgery, all the household dogs surged
around him but Tricki looked down at the noisy pack with dull eyes and lay
motionless on the carpet. So after sniffing him for a few seconds, they
found him an uninteresting object and moved away from him

2. Answer any FOUR of the following questions in 40-50 words:

1).Why are the people of Coorg known as descendants of the Arabs?
Ans. The theory of the people of Coorg as descendants of the Arabs draws
support from the long, black coat with an embroidered waist-belt worn by
the Kodavus known as kuppia. It resembles the kuffia worn by the Arabs
and the Kurds.

ii).How were Seagull’s parents helping his brothers and sister for
“perfecting them in the art of flight”?

The young seagull was afraid of flying, but his two brothers and a sister had
started flying. But his parents were teaching them to be perfect in the art of
flying. They were teaching them how to skim the waves and how to dive for
fish.

iii) What did the writer feel inside the clouds?

When the writer entered the clouds, it became impossible to see outside the
aeroplane. The aeroplane jumped and twisted in the air and all the
instruments like compass etc stopped working due to the weather
conditions.

iv).How can fire destroy the world?

Fire’ symbolizes passion or hatred. It will lead to conflicts and ultimately
result in the destruction of the world. Fire represents desire that is fervent,
consuming, always wanting more. Ice represents hatred that is hard and
cold.

V). What does the poet want to convey through the poem ¢ A Tiger in
the Zoo’?

The poet wants to convey that like human beings, animals also like

3x4=12
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freedom. They do not want to be caged, they cannot live a miserable life. If
their habitat is destroyed by human beings, these animals cannot survive.

3. Answer any ONE of the following questions in 100-120 words:

i) The people and surroundings are a great book to learn. Valli in the
lesson ‘Madam Rides The Bus’ learns a lot from others. Mention the
traits of her character which help her to learn from her surroundings.

Valli dreamt of riding on the bus. Her eagerness to fulfill her dream fired
her curiosity. This curiousness led her to listen to the conversations of
people going on the bus ride and asking discreet questions so that she could
gather as much information as she can regarding the bus journey.

On the bus journey, Valli acted confidently and behaved maturedly. She did
not consider herself to be any less than an adult. She was focused on
fulfilling her dream and did not get tempted to go outside the bus and
explore the town when the bus reached the town.

On the return journey, she learnt about death when she came to
terms with the dead cow. This made her aware of the fact that death

is a part of life and should be accepted as it is a natural phenomenon.

Thus, the bus journey made her learn a lot of thing.

ii) In ‘The Sermon at Benares’, the Buddha preached that death is
inevitable and we need to overcome the suffering and pain that follows.
Discuss.

Answer:

It is very painful to lose someone or something we love. When we lose
someone it is a great emotional suffering. The more we grieve over death,
the more painful it will be for us. Death is always unwelcome. We must
realize that we are all mortals and death is common to all. We may lament
and cry but we cannot bring dead back to life. All the riches of the world
cannot bring life back. We must realize that death is common to all rich or
poor. Those who have overcome sorrow will become free from sorrow and
are blessed.

1x6=6

4.Answer any ONE of the following questions in 100-120 words:

i) A lawless scientist is a curse to the society.” Discuss.

It is true, that a lawless scientist is a curse to the society. A true scientist
uses his discoveries for the good of the society and welfare of the people. It
helps the nations to progress. A lawless scientist increases the miseries and
sufferings of society. In this story, we find how Griffin misuses his
discovery.

He causes pain and suffering to others. He causes destruction. Suppose the
nuclear weapons fall in the hands of a lawless scientist, he can cause
widespread destruction. He may ruin the achievements of other scientists.
That’s why the leaders of the world are worried about chemical weapons

1x6=6
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falling into the hands of lawless heads of governments or terrorists. If this
happens, all the scientists of the world will be doomed.

ii) To participate in the competition is more necessary than to win a
prize. Explain this statement in the light of Ebright’s participation at
the country science fair.

We know very well to win is a human nature. Everyone wants to get a
winning place everywhere. Our life is full of different competitions at
different levels. In these, competitions everyone of us wants to become a
winner. But it is always not possible. When we enter any competition, we
feel a great zeal. We try our best to get the top position there. But if we
don’t get or achieve our goal, we feel disappointed.

Great thinkers have said that participation is more important than winning.
The same is proved in Ebright success. Richards Ebright participated in the
country science fair, but he lost. There he showed slides of frog tissues. He
realised that he should have done some real experiments to be a winner. If
he did not participate in that competition, the result might have been
different.
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